$0 2GRN BIUSER S - 8P ALg 4R

MRHAEF FAEr

g8/ o, |
5 Wi g Ao A ik g
R )

N

wH

W #H kR A

%

Bl & AEHE 2 &

L S
ik
AR | A-J-Cl BAEHAALMERELY BEAEPER BRI F R FIRA B &
Pro | s g R A RRg 2 EEs o
A
L AR REF S & 4 > 30 RAAgisdhd o
iz 2.7 fREE Ao IR AR 0 R F BN o
B |30 A 7Y &gy o ﬁiﬁ‘fﬁﬂ,éf_sbﬁ%‘i% °

PR FENERE S TRNERDRAZ # i o




Ao 2 AR FIAFERS - FY

k]

AR 2 sAE P P E

FA/18E

gVyeim

£y 4R

R

AL

B /A2
Pk RE

= la-1V-1
A+ 1b-1V-1
At 2¢-1V-2
A+ 3b-1V-3

= Bd-IV-1
= Ca-1V-2

=
& 40%
2. ¥ B
£ 20%
3. M A p
% 409

% 4-6 i

>
»

—4
e
g N

= la-1V-1
Ak 2c-1V-2

> Bf-IV-2
= Bg-IV-1

1. 3 &
A& 40%
2. ¥ W
% 20%
3. WA R
% 40%

5705
- Xz ¥
28 )

o la-1Iv-1

= Bf-1V-2
= Bg-1V-1

1 2% &
R 40%
2. M A g
% 60%

5 8-10 &

>
»

%
#

& ey
& W
T

| 4

A+ 3c-IV-1
o la-IvV-1
A+ 3a-IV-1

= Bf-IV-1
= Ab-IV-1
= Be-1V-1
= Be-1V-2

1 3¥ &
& 40%
2. ¥ B
£ 20%
3. M A p
% 409

% 11-13

L

EO e N
R

= la-1Iv-1
At 2a-1IV-2

2 Be-1V-3

Lo3d i
& 40%
2. 3% N
£ 20%
3. A LR
=% 40%

& I8

% 14 i%
(% - =x =
g )

ENL
TRy

= Be-1V-3

=
& 40%
2. M A p
% 609

¥ 15-17

L

= Be-IV-3

L3d i
& 40%
2. ¥ H
% 20%
3. A LR
= 40%

¥ 18-19

L

2 Ce-1V-1
2 Ce-1V-2
2 Ce-1V-3

1. 3¥ i
B 40%
2. ¥




At 3a-IV-1 % 20%
3. A AR
=% 409
PN 2k hr
% 20 ;ﬁﬁjmr 2 Ce-IV-1 gﬁﬁ%“
($z=%% | ~ la-1V-1 2 Ce-IV-2 G
2 g i) = Ce-1V-3 % 60%
¥ S FIp = Ce-1V-1 e
o | mu > la-V-1 > Co-IV-2 gﬁ%ﬁ
2> Ce-1V-3
L3RARAD B e B T ~ B
KE TR 24%\%E?ﬂ
R RA
AL

MR R A




h

e
it

4 2 RAANY FIAEERF - 8P A EHS 2Bt

§F B d

Wi 6 A2 R e g 2

B =% 5- 23

wH

= | B S T = T8 § R S & E L& AEHE 2
A-J-B2 iR PRt R E B ot o MBS 4 0 T L FRE A4 Y

ik Vo kenirR g B 2:13 °

A«» S 9 < D 2. N2 4 z

i AA-J-Cl BRPRLIE IR - B iR EFRNAER N EILEA CBREG

ﬁ:b‘
&£

iR BB SRR RWAE O
Fa

AA-J-C2 EFRRERMENN o HER > FEEA S ITdnI

WAz
B

l.EBYZ2EAATH  BAALEZENS 2 0%

2.3 A B AAN F o A AILAF P4 o
BB AZ A AN F o EMALE KA FEFL o

4.7 fREFE RGP ¥ A F i o Tarakie P F KT rofod

VIR E R LI R




Fi# P 2§ AR

Rar %114%3&

SEW ALE gE AABA

w4
G =
it

\
I8
]
4
W

I

% 1-3 i

>
>

I

<+

IB;
A e

R

s i

L ¥ %
A o ek
= @

=
o
s

n-o
»& <
s

»O
B
?’E

>
>

3 ey
).’3
i

}:
3&; Iy
4
¥

[ S S

v Blveilvo)

?

u;l‘u
=222
»—tmclor—t

s fyde .
3 S
= =

SN
o
R

oW S .
H&_ v
- ©

BPmDPEm—

¥ 8 (
-
=R )

= la-1Iv-1

N
o~
o

|
=
L

= Bj-1Iv-3
= Bj-1IV-H
2 De-1V-1

5 9-11 &

= Bi-1V-1
= Bi-1V-2

¥ 12-13

»

= Bi-1V-3

% 14 %
(% - =x %
g )

= la-1Iv-1

= Bi-1V-3

¥ 15-17

»

2> Bh-1V-
2> Bh-1V

1
-2

=
& 40%
2. ¥ B
£ 20%
3. M A p
% 40%

¥ 18-19

»

= Bk-1V-1
= Be-1V-3

?%:é; 2
R 40%

5

BB/
B RS




At 2a-IV-2 2L ek

i 2c-TV-2 & 209%

3. A p

% 40%

A‘ 2 Bk-1V-1 1. 3% &
AL S IR 2 Be-1V-3 | & 40%
(== | " |2 la-IV-1 2. S Ll
Barg i) A kA =% 6096
o sagat| 2 Bk-1V-1 | 11

1. 3AZAR B B T4 ~ 25
2.3 5 TR TR

3.8 F kA

A

R L S b




